
KA51 // KA51 // MARINA ARMMARINA ARM

DECORATIVE ARM

VIEW A-A
HOLES
x 1"L CORED
(2) 11/16"

1 5/16"

4"

9"

1 1/2"

3"

1 1/2"

4"

9"

1 5/16"

TOP VIEW
OF SIDE MOUNT

CHANNEL

9"

19 3/4"

19 9/16"
A

A
WIREWAY WITH CAST DOOR

1/2-13 x 2 1/2" L
HEX HEAD BOLT

REFERENCE POLE

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

9"

19 3/4"

19 9/16"

RIGID ARM COUPLING

The King Luminaire KA51 Marina Arm is 
an inverted side mount arm with a clean 
look. Available in single or double arm 
configurations, the KA51 is a dependable 
solution with enduring style. 

ARM SPECIFICATIONSARM SPECIFICATIONS

06-06-2025

MOUNTING DETAILS:MATERIAL:
Aluminum

MOUNTING TYPE:
Side

ARM QUANTITY:
Single
Double

ARM LENGTH:
19 9/16”

FINISH:
Available in textured 
or smooth.

EPA
1.30 - 2.78 sq. ft.

WEIGHT
23 - 46 lbs

Side Mount DetailsVIEW A-A
HOLES
x 1"L CORED
(2) 11/16"

1 5/16"

4"

9"

1 1/2"

3"

1 1/2"

4"

9"

1 5/16"

TOP VIEW
OF SIDE MOUNT

CHANNEL

9"

19 3/4"

19 9/16"
A

A
WIREWAY WITH CAST DOOR

1/2-13 x 2 1/2" L
HEX HEAD BOLT

REFERENCE POLE

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

9"

19 3/4"

19 9/16"

RIGID ARM COUPLING

HOW TO ORDERHOW TO ORDER

KA51

ARM 
STYLE
KA51

# OF ARMS

1  - Single
2 - Double

LENGTH

FL - Fixed Length

- -

MOUNTING
TYPE

S - Side

-

MATERIAL
A  - Aluminum

-A S FL -

PAINT COLOR
GN  - Federal Green
BE  - Blue
GY  - Gray
BN  - Brown
BK  - Black
BZ  - Bronze

*Additional options 
available on website. BK
will be provided if blank.

Catalog 
Number

Mount 
Type

# of 
Arms

EPA  
(sq ft)

Wt. 
(lbs)

KA51-A-S-1-FL Side 1 1.39 23

KA51-A-S-2-FL Side 2 2.78 46

EPA & WEIGHTEPA & WEIGHT

VIEW A-A
HOLES
x 1"L CORED
(2) 11/16"

1 5/16"

4"

9"

1 1/2"

3"

1 1/2"

4"

9"

1 5/16"

TOP VIEW
OF SIDE MOUNT

CHANNEL

9"

19 3/4"

19 9/16"
A

A
WIREWAY WITH CAST DOOR

1/2-13 x 2 1/2" L
HEX HEAD BOLT

REFERENCE POLE

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

9"

19 3/4"

19 9/16"

RIGID ARM COUPLING

Top View of Side Mount 
Detail

VIEW A-A
HOLES
x 1"L CORED
(2) 11/16"

1 5/16"

4"

9"

1 1/2"

3"

1 1/2"

4"

9"

1 5/16"

TOP VIEW
OF SIDE MOUNT

CHANNEL

9"

19 3/4"

19 9/16"
A

A
WIREWAY WITH CAST DOOR

1/2-13 x 2 1/2" L
HEX HEAD BOLT

REFERENCE POLE

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

9"

19 3/4"

19 9/16"

RIGID ARM COUPLING

LUMINAIRE 
MOUNTING DETAIL:



CONFIGURATION OPTIONSCONFIGURATION OPTIONS

www.scgrp.com

KA51 DECORATIVE ARM

VIEW A-A
HOLES
x 1"L CORED
(2) 11/16"

1 5/16"

4"

9"

1 1/2"

3"

1 1/2"

4"

9"

1 5/16"

TOP VIEW
OF SIDE MOUNT

CHANNEL

9"

19 3/4"

19 9/16"
A

A
WIREWAY WITH CAST DOOR

1/2-13 x 2 1/2" L
HEX HEAD BOLT

REFERENCE POLE

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

9"

19 3/4"

19 9/16"

RIGID ARM COUPLING

Side Mount Single Arm

Side Mounting Details

Side Mount Double Arm

VIEW A-A
HOLES
x 1"L CORED
(2) 11/16"

1 5/16"

4"

9"

1 1/2"

3"

1 1/2"

4"

9"

1 5/16"

TOP VIEW
OF SIDE MOUNT

CHANNEL

9"

19 3/4"

19 9/16"
A

A
WIREWAY WITH CAST DOOR

1/2-13 x 2 1/2" L
HEX HEAD BOLT

REFERENCE POLE

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

9"

19 3/4"

19 9/16"

RIGID ARM COUPLING

VIEW A-A
HOLES
x 1"L CORED
(2) 11/16"

1 5/16"

4"

9"

1 1/2"

3"

1 1/2"

4"

9"

1 5/16"

TOP VIEW
OF SIDE MOUNT

CHANNEL

9"

19 3/4"

19 9/16"
A

A
WIREWAY WITH CAST DOOR

1/2-13 x 2 1/2" L
HEX HEAD BOLT

REFERENCE POLE

(2) 5/8"-11 HEX HEAD BOLT
C/W NUT & WASHERS

9"

19 3/4"

19 9/16"

RIGID ARM COUPLING


